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1) ¥hat was the site located on the banks of river Sab' vhere ancient civilization in Rajasthan was settled ?

D) Giloond 2) Jodhpur
3) Nagan 4) Baror
1) il 7€) & 92 97 W TS $ TRl B FE e a6y 53 o7
1) fre 2) ey
.: 3) T 4) i
; 2} Which historian has claimed that the Chouhans originated from the Brahmin ?
1) Dr. Bhandarkar 2) Cumingham
3) Dr.Ojah 4) C.V.Vaidh
2) T sfoergemm 9 GRET B SR d91 3 S e A Y
i 1) =l wUsreET 2) w®EH
' 3) =l oAy 4) drEraY
3} On which ruler was bestowed the title of ‘Kavi-versh’ 7
1) Abhay Singh 2) Muy
3) Pratap Singh 4) Ravlodha
3) “wia gw’ @ ai Bew v o & el 7
1) arvya fie 2y A
3) wa fifg 4) g HArH

4) When did the ‘third saka’ of Chittor take place ?

1) 1568 AD A 2) 1569 AD
§E 3) 1567 AD : . 4 4) 1570AD
| 4) Rrdrz &1 ‘duy 90 &9 g7

1) 1568 %. : S 2) 1569 %,

3) 1567 &. - 4) 1570%.

5) Where is the ‘Chal phir shah’s’ dargah located in Rajasthan ?

1) Chittor garh 2} Ajmer

3) Nagour B 4y Jaipur
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Sy ‘g fT siE & gnmE NS O et faw g7

1y fasieme 2) R
3) A 4) SEE

6) What are ‘Ghoonght’, ‘Gugadi’, ‘Bandra’, ‘ITmk’ ?
1)} The names of large bations on the parapets of Taragarh (Ajmer).
2) The names of the castes(Jati) in the gotra as per the folk tradition in marwar.

3} Thenames of the garments worm by ladies in interior of mewar.
4) Therituals of food habits of Rajasthan.

6) “eEe’, CqnEr’, ey, gHErT e B
1) ARG AT W TER & b gol & 9
2) Hars #1 e Geay | oot & el 6
3) wars srates | REd % usd & A
4) v @ & faftar % am

7) Where is the main peeth of ‘Charandasi seet” ?

1) Delhi 2) Alwar
3)' Bikaner - 4) Sikar
7) OROER wHE w g d1o sel §7
1) feet 2) syt
3) dm 4y dre
8) The ‘Boo’ village of Nagour was famous for which reason ? TR LT L TR
1} For patch work 2} Formud toys
3) Forjutpatti’s 4} Forironimplements
8) wwim @1 ‘g Wta Reafa wfwe gan @ ar? -
1) Ugaw & o 2) Tl % Raeiy & T
3) e W& % fer L4y o % o R

9) About which work is the following statement mode we don’t know whether sucha 1argapub‘hshed manuscript
is available in india of the world 7 :

1) RagRatnakar 2) Rag Kalpdroom
3) Vansh Bhashkar 4y Shrangar Har
09 - o 4
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9) ST T o g AT R T W o & a7 A @7 REE 9 § ¥ ar el Sude oo e Uy
g H e T8

1) I/ =T 2) T HEsH
3) G ArER? 4) #T W

10) Where is the Ornament ‘Poth’, ‘Hankar’, *Sari’ worn ?

1) Innose 2) Inear

3} Around the neck 4% Inthe feet
10) 9/, g, T, SMET S g e £

D 9@ | 2) @ H

3) T H 4 A

11) Which statement regarding Kuchamani khayal is not correct 7

1) The founder of Kuchamani khayal is Lacchiram.
2) Inthis male artist performed the female part also.
3) The main artist arc chetram, Hammid beg, Tarachand.

4) Inthis the dancer’s arc also the singer.

11) “game s ﬁmf‘aﬁmwxﬁa@f*{a%’?
ngm%mﬁmmmmm
2) T 9EW U &l 9y & At e
3) zUF wHeNRY AW, THIE 9, aNEE W ©
4) A9 F9F & T & T &

12) Where in Rajasthan is located the “Tripura Sundarimata temple’ ?
1) Banswara 2) Barmer

3) Jalore © 4) Jaisalmer

12) “Bryw gw=d wiar &7 47 e | e fag 27

1) =EEE n 2) At
3) ST 4y ST
13) Who established ‘Vidhyarthi Youth League’ in Delhi 1929 AD 7
1) Tikaram Paliwal 2) Master Aadityendra
3) Janaki Devi Bajaj 4) Manikyalal Verma
09 - o 5
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13) Toemdl qu §orT (129 3) &) e Rew 9 e e

1) Empra aetae 2) wurel ey
3) W EE T 4y DR gl

14) The category ‘Davi’ and ‘Jeevani’ of Nobales was popular in which part of Rajasthan ?

1) Jaisalmer 2) Udaipur

3) Marwar 4) Kotah :
14) “=@lt” iR “Siaui’” | o Sl e | s vateg 912

1) SEeE 2) ey

3) AETS 4) =i
13) Which code does not match ?

Prajamandal Founder

A) Jaisalmer - Meethalal Vyas

B) Kotah - Nayanuram Sharma

C) Jaipur - . Kapoorchand Patam

D) Bundi - Gopilal Yadav

A ) 2) B

3 ¢ 49 D
1S) & ge grkn 8 87

HAHTE A T

A) HEEHL - HiowEE

B) @ier - Sy gt

C) SR - FgEE oW

D) FE - e 9Rd

A 2 B

3) C T 4).D

16) Inthe merger of rajasthan states to know the opinion of the people of Bharatpur, Dholpur, Rivasats, ‘
commiittee was constitud in that committee who was not included 7

1) Dr. Shankar Rav Dev 2) R.XK.Sidhawa
3) Prabhu Dayal . _4) ML.S. Jain
09 . 0:0 6
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16) TroeTs wehtemTon | Ayl eeny? Marmdl 97 s @ wa Swe % ey oo SR g e A T g,
T M H BT AT e UT7

1) = st wa 3g 2) aa. frem
3) TR 4) TH.OH. 3
17) Who established the Sardul Rajasthani Research Institute ?
1) Dashrath Sharma 2) Raichand
3) Jems Tod 4) Ramkaran Aasopa ;
17) GEw Terer P $eteye @t wiEr e @0
1) ggreey gmi 2) AR
3) dmg et 4y UHHOT SFET
18} Which code does not match ? i
State Political Agent
A)  Udaipur - CL.Shawarsh ¢
B) Kotah - Major Berton
C) Jaipur - Major Lawrence
D) Bharatpur - Major Nixon
1) A ' 2) B
3 C 43 D
18) @i e yAfer & €7 .
T gimicEs Tow
A) TEIYR - dLuw, onad
B) el - B EEH
C) T - SR W
D) HIEQ - R e
A B
3) C 4 D

19) In which area did the Bhagat movement start ?
1) Udaipur - Chittorgarh 2) Dungarpur - Banswara
3) Sirohi-Pali 4) Barmer - Sirohi

09 - o 7
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: 19) s GrETe BT T H e gen an?
1) FEY - e 2) T - afEEE
3) FadEr - uE 4) areny - i
20) Who did the foundation of the fort of Nawalkhan in Jhalrapatan ?
1) Madan Singh 2) Prithwi Singh
3) Ratan Singh 4) JalimSingh
20) EENIRS | AawE gi & A e e
1) wed e 2) g fE
3) v e 4) wivm e
21) Shape of Rajasthan state 1s -
1) Quadrangular 2) Rhombus
3) Equiangular 4) Hexagonal
21) T T @ AF € -
1) Fg=E 2) et
3) W@ | 4) wEEE
22) L;titudinal extent of Rajasthan state is -
1) 23%3' to 30°12' North 2) 24°3' 10 30°t1' North
3) 23°3' t0 30°11' North 4) 2410 31°15' North
22) T T T s R - sy
1) 233§ 30012 R T2) 4TI e
3) 2373 & 30°11' e A A §3105 3
23) Which one of the following is the highest mogptair; peak of ;ﬁa\}aﬂis ?

1) Jarga ‘ 2) Ser
3) Raghunathgarh ~ 4) Taragarh
SRR I ST RTIVE S T (R ST SRS
23) groaedr @ waten ude d9rén Feifes 9 9 @ g0
1) s | 2) W
3) TR 4) aARETE

09 - o 8
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24) Inwhich physical dis “sion of Rajasthan are the Mukandra Hills located ?

1) Southem Aravalli 2) Shekhawati Region

3) Hadot Plateau 4} Bhorat Plateau
24) TravegmE % Ry TaE fawer | 9w o vl Raw ®7

1) =ferom smast 2) sEEE aF

3) wERl waR 4) e wor
25) ‘Uparmal’ is part of -

1) Bhorat plateau 2) Hadauti platean

3) Abuplateau 4) Nagaur plateau

25) ‘T B -
1) HqFTE @ YoHT 99
3) G ® YSE u

2) BERN 931 & W
4) [pi %1 gE A

26) Topography of Thar desert is dominated by what type of sand dunes ?
1) Longitudinal 2) Transverse
3) Barchan ) 4} Parabolic
26) € TG i S M AT t e @ 9d o 7
1) weAged 2) s
3 W@ | ' 4) Yo
27) In terms of length within Rajasthan teritory the correct ascending order of the rivers is -
1y Kantli-Chambal~Lun%~Banas 2) Chambal - Luni - Banas - Kantli
3) Luni- Banas - Kantli - Chambal
27) e i w1 el A A W uE S A -
1) T - - - 2) T - G - I - B
3) &I - G - Ee - T 4) EHG - I - T - R
28) Which one of the following ié__noi areason for scanty rainfall in western Rajasthari ?
1) Location of'Aravalii h ; |
2) Location in rain shadow zone

3) Excessive heat during oncoming monsoon

4) High air pressure during sunumers

" 4) Ranas - Kantli - Chambal - Luni

E;
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28) ufgEnd AR T ed aat & o et § 3 S0 U SR 96 B
1) ot o srabef
2) gl or wes § sy
3) HEYH ST & WHE T -
4) HoTEia % ARH T GEEE

29} Which of the following soils extend over the largest area of Rajasthan ?

1) Aridisols and Vertisols 2) Aridisols and Entisols

3) Vertisols and Alfisols 4) Inceptisols
29) Mt 4 8 - g e & waites dawd w fowga '

1) e vd adtbeg 2) UERRE vd oty

3) GerEeH Ud Aok 4) TTHEER
30) Whattype of natural vegetation is found in Mt. Abu region ?

1) Tropical evergreen : 2) Sub - uopical evergreen

3) Semi - arid deciduous 4) Trépiéal thorn
30) W o e § for wer @ Srsies Sweld ug Gn"cﬁ 31

1) o - s e 2) tfsim LR T

G AL S

3) - I TS 4) o - Al VA N

31) Protected by law and included in world heritage the unique b;rﬁkfe izrotacfzon gpotin Raj asthan is-
1) Ranthambhor 2) Keoladeo Ghana
F . 1 o A ek rril bt -y

3) Darrah : 4} Désert nanonal Phrk

31 Wﬁﬁﬁémaﬁmamﬁs&aﬁaﬁwﬁﬁm%ﬁwmg—
D R L) dEsEe e

3) & 4) % WL SN
32) What s the root cause of desertification in Rajasthan ?

1) Frequentdroughts _ 2) Lossof soil cover

3) Lossof _vegetati\;c cover 4) Deepcmng ground w%t:%r }cvci

09 - o 10




32) TSR H SRR O FT G B H E
1) @ P A PSP
3) SRR S & 4) eIl Yo wH

33) Crops grown in the largest cultivated area (2013-14) of Rajasthan are -
1} Pulses 2} Oilseeds

3) Cereals 4} Sugarcane and cotton

33) o & wailde B 9T (2013-14) § g% I O B9 8 -

1 &= 2) foemed
3) I 4) T UG HI

34) According to the livestock census 2012 (Provisional) the total livestock number of Rajasthan is -

1) 491 lacs 2) 5471acs
3y 577 lacs 4) 566 lacs

34) T 2012 F GYEUET (SFRTH) § ATET TORAW 6 W 9y 9T E -
1) 491 @y 2) 547 s
3y 577 ¥Rg 4) 566 @ra

r

35) Which one of the following irrigation projects is the joint venture of Rajasthan, Punjab and Haryana states ?

1} Indira Gandhi Canal 2) Mahi Bajaj Sagaz
3} Beas 4) NarmadaCanal |

35) e # A4 G- R oo T, g g e T @ ggE REeE B
1) =fm T e 2) Wil g AR .
3) = 4) e T8y

36) Which of the districts of Rajasthan are benefited by Choudhary Kumbha Ram lift of Indira Gandhi Canal ?

1) Hzmﬁmangarh and Churu 2) Ganganagar and Bikaner
33 Sikar and Jhunjhuna ‘ 4} Jodhpur and Nagaur
36) iy i ey @ died AW Rge § ToReE & 2199 R amafag ®7
1) B Od I 2) T ud dEeT
3) U gL 4) WYY T AR
% . < 11
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37) National Highway of Rajasthan which forms part of bow the Golden Quadrant project as well as the East -
West corridor - %
1) NH No. 79 2) NH No. 15 f%
3) NH No. 8 4) NH No. 76 :
37) T F U TSEHE A @i ggyT drE a9 gg-uisan Siier aFl e e ¥ -
1) g Tremet wer 79 2) g Ao e 1S
3) wfrg Tremn] Hen 8 4y iy aEnet JE 76
38) Roadroute of Rajasthan included in ‘Super National Highway’ is named as -
1) Maharana Pratap Route 2} Maharaja Agrasen Route
3) Express way 4) Mega Highway
38) WUy A9 B I GO § ARAfE T 6 99 Or e A © -
1) wemmon wend At 2) FERW SR AR
3) wEEuE _ 4) W EE
39) Jhamar Kotrais famous for the mining of -
1) 1ead and Zimc 2) Manganese
3} Rock Phosphate 4) Silver
30) e e P @ % o SRS B, AR E - |
1y e o s 2) frfa -
) e " oo g
40) Which dlsfnc{ (}f Rajasthan cum:nzly produccs ma}umum quannty of Gypsum ?
1) Bikaner . 2) Jaisalmer
3 Hanumangarh 4) Nagaur
40) WW%WWWWHWW@?WWW%?
1) T | 2) S
3) EJAFTe 4) TR
41) Maximum permissible wear in stones for road work is
1% 2) 2%
3) 3% 4) 4%
0 :
09 . .:. 12
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4") wew B Eg ger § AmEaR wear H1 AfE 79 &)

1% 2) 2%
3 3% 4) 4%

42) A good brick earth can be rolled without breaking in small thread of diameter

1) 1mm 2) 3mm
3) 6mm 4) 10mm

42) de T &g IO 9E B GW % ¥ § gHad =g § I (Roll) fEar 1 g B
1) 1mm 2) 3mm 7
3) 6mm 4) 10mm

43) Fat lime is used for best performance in

1) Masonry mortar 2) Lime concrete
3) plaster work 4) none
43) & g ® A e e By st SugE &
1) femé s . 2) I T
3) WER & 4) Tois & HE 98

r

44) Which of the Tollowing grades of concrete in R.C.C. is recommended for severe exposure condition by BIS ?

1 Mis 2) M20
3) M25 4) M30
44) fr= § 9 @M o B T8 R.C.C. £ SIS (severe exposure) TRTicEl # BIS 1T W 7
1) Mi15 2) M20 '
3} M25 : 4) M30

45) Whichof the following minerals has more than 50 % share in rapid hardening cement
1 cas 2) 38 |
3) C3A 4) C4AF

45) P & Wil vrarfs G (chemical compound) %1 50 % & 3% Reat rapid hardening cement &

1} C28 2) 38
3) C3A 4) C4AF
09 - 0:0» 13
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46) Which of the following range of p'_ 7iént volume concentration number is recommendr 7 for paintfor prime.
coaton metal ?

1y 25-40 2) 40-50
3) 50-60 4) 60-70
46) €1g 97 prime coat #F M H H &FET PVCN %1 range 399t Rl
1) 25-40 2) 40 -50
3) 50-60 4) 60 -70

47) The best season for {elling of trees for timbey production in hilly area

1) Summer 2) Winter
3) Monsoon 4) Spring
47) Timber W<t 2 92121 § U2 Hed & T98 I0gw 2 2
1) W | 2) Wt
3) aut 4) = 9
48) Which of the following Indian standard is referred to determine zone of fine aégsregagg‘.{ f
1) 1S 456 ! 2) 1S 383 o
3) 181893 | 4) 15 1237 o
48) et § B FE AREE o T a o SR BN A & Wﬁﬁﬁh%mﬁ %EIIT T BY
1) 15 456 2 15383 '
3) 151893 _ 4) 18 1237 |

49) A dummy activity in a pfoj ect network does not consume

1) Toe 2) Material
3y Money 4) Allthe above
49) g aftarsn “:I“daﬁ% o B (dummy activity) % fo e CE@T( ﬁ?ﬁﬁiﬂlw %
1) =g | 2) [
3) T 4) BULEs w4

50) InaCPM network latest finish time for an event 1 is 10 weeks. Activity i - j takes 4 weeks for completion
~ Event starts after 16 weeks. Float for activity 1 - j1s

1) 6 weeks 2) 12 weeks
3) 10 weeks ~4) 2 weeks
o ' '
09 - o2 14
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50) U CPM 9eadk 0 cvent ‘1 &7 FEeilEd 999 999 10 99E
Activity i - | U0 8 T 4 WHIE BT UWY T 5| S99
Event '}’ URANA &% HIWed TWE 3 9% &l 2
Activity 1 - j T float M1 TfET)

1) 6 TErE 2) 12 o
3) 10 T 4) 2 TEwE

51) Surface tension is dueto -
1) Coheston and adhesion 2) Cohesiononly

3} adhesion only 4) None of the above

51) Y& oI 59 BRY § Bl 87

1) HHF U A 2) fud gow
3) firdk s 4) TULHET H § BE FE

52) The absolute pressure is equal to
1) Gauge pressure + Vaccum pressure
2) Atmospheric pressure » Vaccum pressure
3) Gauge przassure + Atmospheric pressure

4) Gauge pressure - Vaccumn pressure

52) e e & 9 RS 9UET B -

1) wardt = + Far g 2) argHEEE G - T A

3) UHIE B+ g a 4y T = - A |
53) Thecentre of gravity of the volume of the liquid displaced is calied

1) Centre of buoyancy ' 2y Meta centre

3) Centre of pressure 4y None of the above

53) Ul & Be B0 A @1 S H GEATEl § -

1) SEATEHEl &5 2) U HE
3) & % 4) T9gts § § ®E TE
09_,:‘ - 15
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s 54} Which of the following function * nesent the velocity potential of a function ? ;
D ¢= x+y 2) b= x-y? |
3) o= 2x7y 4) b= -y
D §= x2+y’ 2y G= x-y?
3) §= 2%y 4 b= Xy
55) Which of the following pressure units represents the least pressure ? §
1) N/mm? 2y Ketfeny® E
3) Miltibar 4) mmof mercury

55) fmr 0 et @ B O ge, O9 Y ©9 O @) el B -

1) =ges / g by 2) BB/ g A
3) el & 4) Wil & FLA,
' 56) The reading of differential manometer of a venturi meter placed at 45°to the horizontal is 11 cm. if the
venturimeters is turned to horizontal position, the manometer reading will be
1) Zero 2) 11/\2cm
3 lem 4) 112 em L
56) wwm Frgiifier e § 450 & g W T e 5, 56 % Aegde aaad @R 11 w8 af
2 g iiey & dfaw Rale § war 9w, O aend o Ggw e
1) 94 2) 11/v2 @4
3) 118 4) 11y2 &
57) The Cippoleti weirisa ........... weir.
1) Circular 2y Rectangular %
3} Trangular 7 4) Trapeé:oidai
‘ 57) Tawars) &z, 0 ........... R % -
3 1) gaer AN HCKIEAR
3) BrgwmEn 4) GHEEET

o

09 - o3 16

U
|




sy R

JC

58) The power transmitted through the pipe is maximum when the head loss due friction Is equal to

2)

1)
%i ® of the total supply head % * of the total supply head

3) 4)

% of the total supply head % “ of the total supply head

58) W & ET TN 9 IH BAG eifawad R A9 guv oY At 5 % e Ee -

|y S A b 5y T s @1 Y
3y S o @ 1) gy T o # 24

59) Duetoaging of a pipe line, its carrying capacity has decreased by 25 %. The corresponding increase in the

Darcy weishach friction factor fis ..., %
1 63% 2) 77 %
3) 56% 4) None of the above

59) T & TIY U e %l WATE &EaT ¥ 25 % B4 el 61 B [EE & uuol Jiss, f | gHE 0T fhae

g BN -

1) 63 % : 2) 77 %
3) 56 % 4) zudw 4 4 g 8

60) The friction fac;tor of laminar liquid flow in a circular pipe is proportional to
1) Inversely to the Reynold’s number
2) Square to the Reynold’s number
3) Squareroot of the Reynold’s number
4y Reynold’s number

60) T TEIHR WY § 45 a1 Yed YdE & SR ave qutie daEis -

1) FeE T4 & SIREAHIR 2) TS T % % AURE
3y YR T & P H aTuies 4) I T & AR

61) The local mean time at a place located in longitude 90° 40" E when the standard time is 6 hours and 30
minutes and the standard meridian is 82°30' Eis

1) 5hours, 2 minutes and 40 seconds

2} 5 hours, 47 minutes and 20 seconds
3} 6hours and 30 minutes

4y 7hours, 02 minutes and 40 seconds

17
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61) U% W 9t 9¢ 4O F 29T W fers 7| wd afz Ame wea 6 g 30 fiee Ug Aee ardrer
82930 E &1 & =9 W %7 ©Wg 9e o9 & -

1) 5 e, 2 FFe UF 40 s 2) §uve, 47 fire ug 20 dF0s
3) 6 gve ug 30 fume 4) 7 ave, 02 fiFe g 40 FwvE
62} The survey in which the earth’s curvature 1s also considered is called
1) Topographical survey 2) Plainsurvey
3) Geodetic survey ' 4) Preliminary survey
62) a8 Tgerur Toras gt @ amar T i eI W TE e S, 98§ -
1) RIS Faam 2) RO HEHT
3) YRR qHE 4) siiweE Faeor
g 7 63) The latitude and departure of a line AB are +78 mand -45.1 m, respectively. The whole circle bearing of the {
' lineABis
| 1) 1500 2) 330°
3) 300 ' 4) 12¢0°
63) ol Y@ AB % el Ud YSiE F UE FE +78 WIL U -45.1 1. B 36 T AB ¥ guige RewE @
9 # - .
) 15(;'0 2) 330°
3) 30° : 4y 120

64) A series of closed contour lines on the map with lower to higher values ihééde'thém, represents a
1) Hil 2) Ridge
3) Depression 4) Steep slope

64) UE WAy § de Aoy Yael @ dmen PR el B ot oY & e we 8, e -
1) werd ) 9l
3) gt 4) @l T

65) Twompéint problem and three - point problem are method of

1} Resection 2) Orientation
3} Orientation and resection 4) None of these
09 - o 18
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65) fa-forg gwen v By T T & ARl E -

1Y e

3y e ud smoRa

66) The collimation method for obtaining the reduced levels of points does not provide a check on

1) Foresights

3) Change points

2y T
4) Tqgad | ¥ Bl 44

2) Backsights
4) Intermediate sights

66) aararor fafty F fafim el &% aorer aq B o oife 98 el ¥ -

67) Size of a theodolite is specified by

1) Diameter of Jower plate

3) Length of telescope

67) SR F AR 3 MRS T e © -

1) faw ©ie & sy
3) §@EM @l wEE

2) uygEEET
4) veaAIET

2) Diameter of up}ier_ plate '

4) Diameter of vertical circle

2) TU WE W
4) e g9 & Ay

68) The point on the celestial sphere vertically below the observa’s posttion is called

1} Pole
3) Zenith

2) Celestial point
4) Nadir

68) SIS 1 9% fig A @Y AW & 99 @ aT% oREd 21, dedl § -

1) 49
3) ofWiag

69) The most widely used antenna in GPS is

1) Slotted antenna

3) Parabolic antenna

69) Wi diuE. § Haiys $ o I T § -

2) STy by

4) FeEg

2) Microstrip antenna

-4y Homantenna

1) wihtE e 2) wIgH vl TeF
3y B[ AT T 4) B
00 . o 19
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7. ) th long and short wall method of estimation, the | 1gth of long wall is the centre to centre distance bet ‘een
the walls and plus
1) Breadth of the wall
2) Half breadth of wall on cach side
3) One fourth breadth of wall on cach side

P

4) None of these
70) e @ ud Biey dran oty |, w0 San # e, a1 danl % B 9 B A g8 aul L.

B S s by

% qUEY Tl § -
1) dar %t 9 2) X ATE GER &l S e
3) ¥ o dan &) Qi 9 4y wE ¥ U 2 98

71) A catchment consists of 40% area with run-off coefficient 0.30 with-the remaining 60% area with run-off
coefficient 0.50. The equivalent run-off coefficient will be

1 NS E DA - 10 P
%@@2@5 .

1) 0.38 2) 0.42
3) 0.48 4) 0.52
71) T T UEW % 40% & H T G YoNw 0.30 ¥ 3 §T0 & H T B J00H 0.50 Bl W H W A
o
1) 038 ’ 2) 0.42
3) 0.;8 4) 0.52
72) For calculating the maximum flood discharge in an alluvial stream, which is the best suited relation?
1) Vo R#812 2y Vg R¥PS¥
3) V g R¥ §¥ 4) V g Do
72) Ueb TG WU § Siftread 9% |eTg & 70 % AU 999 Suged 99y ¥
1) V o R¥ g2 ) Vo R®S®
3) Vg R¥® S 4) V g D¥

73) Discharge per unit drawdown ata well is called

&,

1) Specific capacity 2) Specific storage
3} Specific yield 4y None of the above
09 - 20
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73) ug w0 W ARG WE TEE SHET § BH demiEl §

1) Taisre emen 2) Talgre wEmm
3) fefsre sus 4) IO H W BIE FE

74) Water present in an artesian aquifer is usually
1) At0.5time of the atmospheric pressure
2) Above atmospheric pressure
3) Atsub atmospheric pressure

4) Atatmospheric pressure

74) e FCHE UHEEET 4 JUleE O SR 8

1) AgHAYER T @ 0.5 o0 2) arguUEe B I S %

3) TY AgHEEE I W 4) FIGEAAT 2 T :
75) The water utilized by plants is available in the form of E

1) Hydroscopic water 2) Chemical water g‘

3) Gravity water : 4) Capillary water
75) G BN 39D ReAT A oI 9 e &Y 4 SuWed B

1) orEdE Sﬁt{[fﬁ ‘ 2) THEEE T

3) TEETHEYT U 4) HSER 9

76} A canal has designed to supply the irrigation needs of 1000 ha of land growing rise of 140 days base period
and having a delta of 126 cm. If the canal water is used to irrigate wheat of base period 120 days and having
a delta of 60 cm, the arca that can be irrigated is :

1) 1600 ha 2) 1800 ha
3) 2000 ha 4y 2200 ha

76) W Y @1 T 39 Wk W 8 § T =% 1000 gaegy v @ {HuE ey w9 B uaree fawr 9
TEE 140 B ol Beer 126 &91-2 fE 7T &1 99 71 o Riwg & fom g | fovn s oy &g
diftag 120 fe=r &/ S 7 &1 & & {oam o R fea o 9% 2
1) 1600 #FeT 2) 1800 &

3) 2000 et 4y 2200 EaT
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77) 1n the alignment of an irrigation channcl wherefrom off takes have to be provided at ragular intervals,
changes in the given channel parameters are made of. The correct sequence of the decreasing order of
preference of these parameters is

1) Depth, slope, width 2) Depth, width, slope
3) Width, slope, depth 4) Width, depth, slope

77y U T T & g § w6l ¥ afwced Mali araae uv ovees wud Wi §, S8 % qivdE 9 9iteds
Tora T Bl 39 99a! Y SUEeT % god w6 el STEH &

1) e, B, AW 2) TEE, g, o

3) GgE, o, T 4) 9=E, TE, TW
78} Aridgecanaliscalled a:

1) Across the contours 2} Contour canal

3) Side slope canal 4) Watershed canal

78) wa I 78T wl HEl W 8
1) &el & 9w ' 2) T T
3) WIyd TN el 4) AEIE T

79} Lacey’s silt factor for medium silt whose average grain size is 0.25 mm, is likely to be

1) 0.66 2) 0.77

| 3) 0.88 4) 099

| 79) wew e Rl s B e 0.25 il 8, % forg et e et €0 4 e 2
1} 0.66 2y 077
3} 0.88 4) 0.99

80) Garret’s diagrams are based on

1) Bligh'stheory . , 2) Kennedy's theory
3) Khesla'stheory - : 4) Laey’s theory

80) frve % o arenfig B B
1) T % Reuiw w 2) sl & fogi w
3) W % e 4) o & HEld
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81) Which of the following method is most accurate for the determination of the water content of -oil

R———————— L

1) Ovendrying method 2} Pynometer method

3} Sand bath method 4) Calcium carbide method
81) THedl & SRIST B SN &I A HIH wuged 9ty e o § am Ay gv

1) SHIaEET a8 2) TErlTT e

3) €T a1y Hug 4) TR FEZE HUE

82) The plastic limit and liguid limit of a soil sample are 35% and 70% respectively. The percentage of soit
fraction with grain size finer than 0.002mm is 25. The activity ratio of the soil sample is

1) 0.6 2) 1.0
3) 1.4 4) 18

82) e THe! & T o wittces T oI 59RO AT 35% 3 70% € | Fieel faads w1 e 0.002 5
THUE. ¥ WE B SHE o9l WY 25 &, o Medl & g o ofeeid A ey f
1) 0.6 2) 1.0 E%
3) 1.4 4y 1.8

83) The hydraulic head that would produce a qmck sand condition in a sand stratum of thlckness 1.8m, specific
gravity 2.65 and void ratio 0.65 is equal to

1) 1.0m . ' 2) 1.2m
3) 1.6m 4) 1.8m
83) e T 1 UG o 4erE 1.8m, mféfa?mwﬁvﬁwmaﬁqrﬁ%s% ¥ ferges dE HEteM S
w0 % e wRgiive ¥ 8 |
1) 1.0 ez 2) 1.2 faex | |
3) 1.6 firex 4) 18 forew | o
84) The hydrostatic pressure on the Phreatic line within a dam section is
1} Greater than atmospheric pressure . 2) Equal to atmospheric pressure
3) Less than atmospheric pressure 4) None of the above
l 84) up at & e s wea W emdeis T
1) TgusE 59 A S 2) TYHEEE € ¥ gE
4 3) AGHTE T A wH 4) wd & w5 T i
09 - o 23 |
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85} For a particular loading condi Jmya saturated clay layer undergoes 30% consolid: ion in a period of 180
days. What would be the additional time required for further 20% consolidation to occur

1) 320days 2) 280days
3) 220 days 4y 160 days

r

85) ue fas wfEn rawen & o U g w9 & ued B 180 E H 30% e g A g, an efahas
20% EHET BM & 00 qTaYIe BRY o 0T |
1) 320f= 2) 280 fed

3) 20f= 4) 160 &=

86) For conducting a Standard Proctor Compaction Test, the weight of hammer (P in kg), the fall of hammer
(Q in mm), the number of blows per layer (R) and the number of layers (S) required are respectively

§ P Q R S
P 1 589 550 50 3
‘ 2) 489 450 25 3
: 3) 360 310 35 4
4y 260 310 25 3

86) wwﬁw%%&a@fﬁmﬁ%%@&ﬁ@mmm kgﬁ)%ﬁ@.ﬁéﬁmr((} mmﬁ)w
wfdy g @1 dE (R) ofiY weEl # 9E (S) & SUEsTed SHHeT Bl §

p Q R S

i3 5.89 550 50 o

2) 4.89 450 - 25 3
3 3.60 310 35 4 |
b 4) 260 310 25 3
‘. 87) Sheep-foot rollers are recommended for compactin g |
: 1) hardrock 2) granularsoil
: 3) cohesive soil R ‘ 4) any type of soil

87) sta, ge T fres HaaT § S e €

1) =% 7w ' 2y arde el
3) aEwE e : 4y T ot we @ R

09 - o3




88) Given that fora soil deposit
K_=earth pressure coefficient at rest
K, = active earth pressure coefficient
K = passive earth pressure coefficien
u = Poisson’s ratio _
The value of (1-y)/pu is given by

1) K, 2y KK
3) K/K, 4 VK,

88) ww feuiteie fieel % forg faar m &
K = fgsm a1 g o
K, =4ikT 421 &g ol
K = ARy a7 o1 0T
W = HTE BT ST (1-p)/p T 5 BT

n K . 2) Ka/:K:!

4]

3) KJ/K, 4) VK
89) A gross bearing capacity of a 2.0m wide strip footing at a depth of 1.5mis 450 KN/m?. If =20 KN/m?,
what is the net earmg capacﬁy 7 :
1) 400 KN/m? 2} 410 KN/mv?
3) 420 KN/m? ' 4) 430 KN/m?

89) 1.51 %TWWQ&GZOmWMWWQ%WWW%GKN/m % 13k y=20 KN/m®
B, 1 9ed R SHAT F 2

1) 400 KN/m? 2) 410 KN/
3) 420 KN/m? ~ 4) 430KN/m? '
90) The size of square bearing plate in the plate load test for determining the bearmg capacity of 501] should be
1y less than 300mm .. 2) between 300 mm and 750 mm
3 bcaween 7‘50 mm and 1.0 m 4. greater than 1 0 m

90)Wmmqﬁm%m&wmﬁwmﬁﬂquwﬁzmm’mm%q

1) 300 UR.UA, # HH

2) 300 wH.uy. Sv 750 UH.UH. & g
3) 750 TA.UH. AR | Hic? & A9

4y 1 4iER ¥ oas
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91) Abarmade of amaterial v :ieh has modulus of elasticity 2 x 10° Mpa and poi<on’s ratio 0.25. Which one
of the following corresponcs to shear modulus of the material ?

13 0.2x 10° Mpa 2) 0.4 x 10° Mpa
3) 0.5 x 10° Mpa 4y 0.8 x 10° Mpa

92) Inapropped cantilever beam ABC, Fixed atend A and propped at B. AB =L andoverhang BC=1/4 A
point load “P” is applied at C will generate moment at A

1) PL/2 2) PL/4
3) PL/S 4) PL/10
93) Ashaft of length L. having torsional rigidity GJ is subjected to a torque T. The corresponding stiffness shall
be:
D T 2 61
L L
3) 16 4 TJ
L GL
94) Euler's critical buckling load for a column fixed at onc end and free at other end is:
1) x°El 2y 7mEl
L , 2L}
3) 7mEl ‘ 4y 4r'El
47 L’

95) A rectangular block is subjected to normal stresses on two orthogonal faces 600 Mpa and 400 Mpa of
same nature. What shall be maximum shear stress produced on a plane ?

1) 500 Mpa 2) 300 Mpa
3} 250 Mpa 4y 10 Mpa

66) Consider following for a short column: (1) fails primarily due to crushing, (i1) Ulimate load capacity depends
upon its length, (iii) Yield stress governs crushing strength. Which one of the following is correct answer ?
1) ionly | - 2) iand ii ofily
3) i and iii only 4) ii and iii only

97} Radius of gyration of two rectangular columas is in aratio of 3 : 1. What shall be the ratio of their depths 7

1) 3:1 2y 1:3
313 4y §3:1

09 - ol 26
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98) A free end of a cantileverbeam otates by 0.001 radians under a point load 10 kN. " hen deflection at the
free end due to a moment of 1 KN-m is:

1y 10mm 2) 20mm

3) 25mm 4} 40mm

99) A prismatic beam of uniform flexural rigidity El is simply supported over a spam, L. If a moment, M is
applied at one support, the resulting bending strain energy is:

1) ML 2 ML
ET 2ET
3) ML 4) ML
4Er 6Ef

100) Which one of the following represents curvature of a beam subjected to pure bending ?

1 i

D £y'd+yn? D £yna+y)?
3
3) tytd+y")? 4y £y'd+y"y
101) As perIS code provision the tolerance on placing of reinforcements in a structural member having effective
depth more than 200 mm shall be:

1)y *25mm . 2) *20mm
3y £15mm - 4y £10mm
102) A curve showing percentage passing on ordinate v/s sieve size on abscissa of aggregate a horizontal portion
for certain range indicates: s h
1) Continuous grading ' 2}y Gap grading
3) Mix gmding ' 4) porous grading
103) Partial safety factors to be taken for concrete and steel reinforcement, respectively, for design purpose as
per 1S:456-2000 are: . .
1) L5and 1.5 2) 1.5and 1.15
3y I.15and 1.5 4) 1.15and 1.15

104) In a monolithic slab-heam RC constructions transverse reinforcement to be provided in the slab shall be:
1) 60 % of main reinforcement at mid span
2) 50 % of main reinforcement at mid span
3} 40 % of main reinforcement at mid span

4) 25 % ol main reinforcement at mid span

09 - 0:0 27
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105) For limit state design of RC beam consider following:
B I:A ]
; ={.36 i o= 4%
@ 7 U

ok

_‘xﬂmax
(i) = z{)‘48}

‘Which one of the design criteria shall be applicable ?

1) Balanced section
2} Overreinforced section
~3) Underreinforced section

4) both balanced and over reinforced sections

106) Most appropriate ot rolled indian standard section for steel girder is:

1) 1ISMB 2} I1SLB

3) ISWB 4) ISHB
107) Gauge length of steel specimen as per codal provision is:

1) 54 | 2) 5654,

3) 6d 4) 84

Whtre d : larger dimension of the specimen; A @ cross sectional area of the specimen

108) Which one is correct about prying force ? |
1). Additional tension force 2) Additional compressive force

3) Addidonal bending moment 4) Additional torsional force

109) Reduction in design shear capacity of bolts due packing plate in excess of 6mm is expressed { as per
1S800-2007) by :
1) 1-0.0125¢ 2y 1-0.125t

N 3) 1- O.lztpm o 4) 1- G.25Ilp.m”

Where [ thickness of thicker packing plate

TR
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110} Transverse shear to be considered for design of batten plate is:
1y 2.5 % of axial force 2} 5% of axialforce

3) 10 % of axial force 4) 25 % of axial force

111) A concrete mix has entrapped air about 1% resulis in:
1) Poorquality of concrete 2) Average quality of concrete

3) Improved quality of concrete 4) Regquires less guantity of water

112) Which one of following is not mechanical property of bricks?
1} Modulus of rupture 2) Texture

3) 'lensilestrength 4) Fire resistance

113) Relevant IS code for specification of bath type concrete mixers 18:
1) 1S: 1786 2} 18:1791
3) 1S:2502 4) 1S:2506

114) Tolerance fimits for dimensions of bricks in length, width and height, respectively, fora sample of 20 bricks
taken together as per IS code are:

1) 2000mm, 20mm, 90mm 2) 100m,95mm,95m§n
3) 80mm,40rmm,40mm | 4) 50mm, 20mm, 20mim

1 15) Consider following requirement of docurnents for agreement to be signed for a construction project:

i) Letter of acceptance @) General conditions of contract
(i) Conditions of particular application (iv) Technical specification
(v) Drawings (i) Priced bill of quantities
Which one of the following is correct answer 7

1} i,1,ivand vonly 2} i.iii,ivand vonly

3) ii,iii, ivand v only 4) Al

116) When the F9 key of the keyboard is pressed, the following facility is toggled on/off:
1) Snap 2} Ortho
3) O-Snap 4) Grd

-

B
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116) o %t @S &1 F 9c cqigl OV £ af 79 | o Seel gioen o a1 $ife e 2|

D =9
3) o=y

117) What does WCS stand for ?
1) Western CAD system

3) World coordinate system

117) zawg 91 oF (WCS)YHT T WiH #7577

1) oA #= fies
3) aFE wilieae ey
118} The Fillet command creates:

1} Sharp comers
3) Round and Sharp corners

118) fste wwig & ey s &

1) s
3) A Td A

119} What keyboard key used for polar on/off ?

2) e

4) =

23} Worldwide coordinate sectors

4}y World CAD setting

2) geedEs ®ldliee 4Fet

4) g e A

2} Round comers

4) None of above

2) TR B
4y THET § § &I T8

1) FI0 2) Fil
3) FI2 4) F8
119) S o/t w2 % Rorg Frard & i e o ¥ |
1) wEI0 - 2) TEll
3) uwl2 4) TES
1207 Which command allows you té chén ge the ine type scale ?
D IT s
3) LS 4) LISC
120) fr=1 & 9 Sl $aTs WET 2Ey B g9ged 87
1) LT (s &) 2) LIS (ua & un)
3) LS (ust UH) 4) LTSC (o= €1 ug )




